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Instructions : The question paper consists of five sections. Each section carries
40 marks. Section — I is compulsory ‘and contains twenty objective
questions. Each carries two marks (20 x 2 = 40). Sections — IHtwV
contain two optional long descriptive questions each. The candidate is

required to answer one.question from each section.

e _mwﬁa@?#%w?/m@vwoai#w?/w—la;ﬁwa
A a1-2) 37 & 20 TEgIA8 51 8 (20 x 2 = 40) | T - II gV 7 59%
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SECTION -1 | (20 x 2 = 40)
G -1 '

1. Which method is used to measure National Income ?

(A) Income method (B) Production method
(C) Expenditure method (D) All of the above
mma’r‘m%mﬁmﬁﬁ:muﬁﬁmm% ?
(A) s | ®) e fafy
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2. This is not come under goals of National Pohcy of India.
(A) To bring down Total Fertility Rate (TFR) to replacement levels by 2015.
(B) To reduce the infant mortality rate to-30 per thousand (1000) live births.
(C) ' To reduce maternal mortality rate 100 per 100000 live births.
(D) 100 percent registration of births, deaths, marriages and pregnancies.

Fg VT hi TP Aif % el & oveta T8 e @ |

(A) 2015 7% o1 T S (HTHIR) Y Ifreemys W aeb o & forg |
B) g geg g wfy &R (1000) e =11 W 30 (i) o H7 H |
(C) T 9eg S 100 Ffer 100000 Shifya 1=t qo w7 FA | |
(D) =, 5eg, Toramg iR mefermcor 1 v wfrere defietor @ |

3. Choose the correct statement(s) related to the green revolution. :
(i) Increasing agricultural production by incorporating modern tools and techniques.
(ii) New high yielding varieties of wheat were developed by Prof. Norman Borlaug
and were adopted by a number of countries.

(A) only(i) (B) only (ii)
(C) Both (i) and (ii) (D) Neither (i) nor (ii)
| E&amﬁﬁmﬁﬁaHﬂW/wﬁwwﬁ !

angﬁmwvﬁaﬂtawﬁaﬁm&ramﬁmm'l
(11) ﬁ'{aﬁ#ﬁmiﬁaﬁr%m’rﬁsﬁ mmmmﬁmﬁaﬁmwmaﬂt

W ST G STaTE T T |

(A) %39 (i) (B) ¥ae (i)

©) () (ii) A | (D) AW (@) T (i)
4.  Whois the father of Public finance ?

(A) Dalton (B) Pigou

(C) Smith (D) Musgrave

s s TE B E ? | |

(A) A (B)

© fo (D) W&
S.  InBudget 2021, a multipurpose seaweed park is proposed in which state ?

(A) Kerala (B) Andhra Pradesh

(C) Odisha (D) - Tamil Nadu

W9 2021 # e U § U wgenii wge Sarer arh wearfaa @ 7
(A) + | (B) 3y weH
(C) anfem (D) dfEATg
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6.  Match List — I with List —II and select the correct answer using the codes given below :
List -1 List — 11
1.  Fiscal deficit A.  Excess of total expenditure over total receipts.

2. Budgetdeficit B. Excessof revenue expenditure over revenue receipts.
3. Revenue deficit C. Excess of total expenditure over total receipts less
~ borrowings.
4. Primary deficit D. Excess of total expenditure over total receipts, less
borrowings and interest payments.

1 2 3 4
(A) C A B D
8 D C B A
(C0 A C B D
M C A D B
T -1 g -1 Iﬁ@%%ﬂﬁﬁqm%wuﬁﬂmﬂﬁﬂ’gﬁﬁ
Th-1 gh-n
1. TShNEERT A %mmwmaﬁ rfreRar |
2. §WHUER B. Ui Wiftr oX T S ht ATk |
3. USE HIT C. ot TR T e S i Aftreha A U |
4. T U1 D @ﬁmmﬁmﬁm,mmaﬂxm
I | '
1 2 3 4
(A ) C A B D
B D C B A
(0 A C B D
. C A D B
7. Which three indicators are used in Human Development Index (HDI) ?
I. - Standard of living I Education
I1I. - Life expectancy IV. Condition of Environment
(A) onlyL IIand IV : (B) onlyl, Il and III
(C) onlylandIl (D) All of the above
e faema gE (HDI) & R i wberep! b ST o e ] 7
[ S &R . o
M. e e Iv. e s feadd
(A) FaL I3V . (B) %A LI
(C) Haat 13RI (D) Y a+t
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Which of the following options is not incorporated as sustainable development ‘
parameters ? - ’
(A) Gender disparity and diversity
(B) Inter and Intra-generational equity
(C) Carrying capacity
(D) None of the above - : '
frerffaa 3 & 1w faehes waq fere e % w9 d M@ TE R ?
(A) T sramman we fafeera ‘ (B) = T& =R -Higimq &war -
(C) & &wal (D) 39Uk & & 3 T

'Consider the following statements :

1.  Poverty line estimation in India is based on income levels.
2. Poverty estimation in India is carried out by NITI Aayog’s task force.
Which of the above statement is correct ?

(A) 1only (B) 2only
© Both land2 : (D) Neither 1 nor 2
o et wREm . |

1. mﬁmi@mmm%_wmm%l '
2. mﬁmmmﬁmﬁmﬁﬁmmm% |

I FR AW R ? -
(A) a1 » - (B) ¥aw2
(C) dFi13M2 . (D) AAMIAA2

What is unemployment trap ? . ,
(A) A situation when unemployment benefits discourage the unemployment to go to
work.

(B) A situation where people working informally, without proﬁer job contfapts and

thus save any legal protection.
(C) Tt refers to the time lag between the jobs or is switching between the job.
(D) It s loss of jobs due to change in technology.

QAT ST FAT R ?

(A) @-@@Iﬁmmmmﬁaﬁmmaﬁ%fmmm%l

(B) @@Mﬁ?ﬁﬂﬁﬂﬁﬂﬁaﬁa@ﬂ%ﬁ@hmémmé%aﬁt
39 THR B HIH G T 8 | | |

©) %W%ﬁwmﬁéﬁam%maﬁéwﬁs#ﬂwﬁmﬁ
iy defdi s feRE @R |

(D) 7 Frefiren 3 aRed % HRO ABRET B THAA 8 |
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Green Revolution of 1960 was associated with v
(A) Useof HYV of seeds | (B) Tree plantation programme
(C) Fisheries development (D) None of these
1960 3 gia shTf 1 ey foraa o ¢ :
(A) HYV st &1 530 (B) JERIGU A
(C) we= (D) FHIHEAH
National Development Councxl was established in
(A) 1952 v . - (B) 1971
(C) 1958 (D) 1964
TS foepra ufteg &Y womoT g€ oft
(A) 1952 (B) 1971
(C) 1958 . (D) 1964
“Which of the following combination is correct ?
(A) NABARD - Industrial loan - (B) RBI - Long-term finance
(C) RRB - Agriculture finance (D) IDBI - Short-term loan
fafafgadasm e aam e & ¢ : -
(A) e — e (B) R.&.a1E. — dutafy o
(C) M., — i fom : (D) R8T, — FHAHINAD B
How many countries of the world are currently members of the WTO ? »
- (A) 134 (B) 165
(C) 164 ‘ . (D) 155
e 1 forge o e S forea SR e & wee € 2
(A) 134 (B) 165
(C) 164 ' : (D) 155
Which statutory body is having power regarding stock market ?
(A) SEBI (B) N.N.P.
(C©) MRP - (D) LIC
I TR F Ty e qufe e Frawhe d
(A) SEBI : (B) N.N.P.
(C) MRP : (D) LIC

Fiscal deficit is that part of total government expenditure which is met by
(A) Imposing more taxes (B) Borrowings

(C) Selling shares held by government - (D) All of the above
mﬁamﬁwﬁmwa‘gm%ﬁ@mm@mm% ?
(A) e T TR (B) SURS N

(C) TTHR gRI YT St <Y feshy (D) SuIH ot
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What is the contribution of the secondary sector in Jharkhand State Value Added at
constant prices in 2019 — 20 ?

(A) 328% (B) 282%
(C) 289% D) 12.5%
201920ﬁ%n@mm%m@aﬁaﬁﬁmaamwm%?
(A). 32.8% (B) 282%
(C) 289% - (D) 12.5%

What is the gap in the literacy rate of Jharkhand and Indla in percent as per the 2011
Census ?

A 5%  (B) 73%

(C) 208% - (D) 103 %

2011 Y FATUT % HTAR FRGUS 3R Wi ht Argran e & ik (Fferra #) w1 @ 7
A) 5% . B) 73%

(C) 20.8% | (D) 103 %

Which of the following statement is not correct about the Jharkhand State Contmgent

Foodgrains Fund ?

(A) Itis constituted to thwart any eventuality of starvations-deaths.

(B) This fund has been constituted right from the district level down to the
Panchayat in the financial year 2018-19. ,

(C) During the COVID-19 pandemic, this fund has helped the needy people in
tackling the problem of scarcity of foodgrains at the ground level. :

- (D) 5 kgofrice is given to the eligible beneficiaries from this fund.
FGUS T4 ST G B9 o o) § Fefafga d d s s e v & ¢

(A) 3ET 13T YEuh-7cg 6 forelt ot ferfar =1 foret 09 & forg fopamman @

(B) Tercfa o 2018-19 A 38 Y 1 T+ el Tt & A v=rd 9 T T R |

(©) COVID-19umﬁ%ﬂmmaﬁﬂﬁmwwwaﬁmﬁmﬁ
AU A St Al hlAge R R | »

(D) smaﬁamaﬁw@mmwﬁvﬁﬁﬁmm%

As per the India State Forest Report 2019, what percent of Jharkhand’s Geograph1cal
area comes under the forest cover ?

(A) 30.52% B) 29.12%

©) 29.62% (D) 28.98%
Wmmﬁ@ézow%m smgvg%&ﬁrﬁ%m &7 %1 Fpaa wferera s 4 %
et AT R ?

(A) 30.52% B) 29.12%

(©) 29.62% - (D) 2898%
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queg - II

1. What is National Income ? Discuss the various methods of measuring national income.
THR AT 71 @ 7 TP 3 ) A & P adsi waat ot |
OR/HYaT

Write an Essay on Budget. Explain the principles and types of Budget.
a9 W G ey fag | o 3 frgrat 3k w6t samean 6t | 40

SECTION - III
Gug - 1

2. What is the origin of expression “SUSTAINABLE DEVELOPMENT” ? How it is
associated with protecting the environment ? Elaborate the statement “Center to start
measuring green G.D.P. of States”.

“waq fewrer sfvrefr fi s m r Ewlam R g IR @ r wER A
ST Y, “U Ht & .26, 51 A Fg 3 =
OR/31¥at

Write a note on Indian\ Five Year Plan. .

T e A W T e R | | | | a0

SECTION -1V
gvg -1V

3. Write an overview on impact of Globalization in Indian economy.

W Sreferereen ¥ AR % yuE W o gt ot |

OR/3AYaT
Write the recent agriculture sector reforms which are done in India.
T &1 3 W & foru e iy 8 % guml  smen Wt | 40

CCSME21 (18) | | P.T.O."



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

8 - 18 (PV)

. Marks

SECTION -V
g -V

4. What are the sources of public borrowings of the Government of Jharkhand ? Discuss
the recent trends in the debt-sustainability indicators for Jharkhand.

K c

TCEUE GHR F HIEAS IR F €a 1 8 ? FCETE ¥ T - FRET Gehashi H T

F FE W H |

OR/1gaT
Discuss in brief the major challenges faced by Jharkhand in the path of addressing the
developmental concerns.

ﬁwamﬁmaﬁﬁqmﬁmﬁﬁm%mmﬁaﬁmgﬂﬁﬁﬁaﬁn
==t |
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